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Console.WriteLine(6+5);

Caioladly

result = numl + num2;  aib e b oools aly oo Slaslxe & )le slaniglos

JECLCYo,

o Sles ol 5 o (Boyd pezr Jold a2l Slles bl gl cwgiadly Glapl;)e
o3 o Gl o)l e Gy 5o ) b Rlee (I ¥ Joazr 0)ls 092

955 JoaS5 ¥ Jsor | L

@yl y3 (Flawlrs b Slos - ¥ Jguar

5 i -
206 <y %
4/25 o /
67.20 oS 003Lou8ls /A
3420 — .
3-20 e ]

e Sles 4 g (Unary) SUSS gla ,Slas w5)ls 5L Wgloe SO @y aS 4y 3 Sloe aiile oo Slas 4
SsS o (Binary) SUgs sle Slae cai)ls 5lo Wolos g0 @y aS/ g 3 9+ slo ,Sloe aiilo

0dlgils SO ol 3l slawy 1 Skee saimo lid &S el jaiS S Sl b ool ales gl o
Q‘)J‘ POy Curoz as Y o 6‘4.4[4)4 suLo)}mS Qo JL..J )LoT 4 d>gl L: M‘j}‘so | )9.-5 QT 59
22 Goles olul o) gl a5 cdl o ) leils slass 4

S sl | ConsloePopulation el 4 asos o594



B b Sl Jo iy ploog
M’.\g Main A.\:-D)é ‘) )J) K\y

Console.WriteLine("------ family size in IRAN ------ ");

Console. WriteLine ("Enter Population:");
long populate = long.Parse(Console.ReadLine());

Console. WriteLine ("Enter number of family :");
numFamily = long.Parse(Console.ReadLine());

float familySize = populate / numFamily;
Console.WriteLine("family size in IRAN: {0}", familySize);
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float familySize = (float) populate/numFamily;
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Console.WriteLine (" ------ Final Price------ ");
//Get the First Price

Console.Write ("\nEnter Pricel:");

float pricel=.....cccceevvveerieeeieenne, ;

//Get the Second Price
Console.Write ("\nEnter Price2:");

float price2=.......cccceeeverveereennen. ;

//Get the Third Price

Console.Write ("\nEnter Price3:");

oAt PriCed = .o ;

//Get the fourth Price
Console.Write ("\nEnter Price4:");
oAt PriCed = ..o ;

lal LS slaasa |y Ol ygiws oy .ap3 o0 i lod 00,5 duwlxo Iy o led &luo ) Ol ygiaws
//Calculate the Discount
float discount = pricel+ price2 + price3* 10/ 100 + price4* 70 / 100;
Console.Write("\n *** final Discount = "+ discount);
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//input radius of the circle
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Console.Write("Enter the radius in meter: ");

Nt radius = .....coovveiiiiiiiieceeiieeees
//caculate circle environment
double env =2 * Math.PI * radius;
//display circle environment
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int count101, count102;

Console.Write("Enter count of student class 101:");

countl101 = int.Parse(Console.ReadLine());

Console.Write("Enter count of student class 102:");

count102 = int.Parse(Console.ReadLine());
Console.WriteLine("count of students class 101={0} ", count101--);
Console.WriteLine("count101={0} ", count101);
Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count102={0} ", count102);
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Console.WriteLine("count of students class 101={0} ", --count101);
Console.WriteLine("count of students class 102={0} ", ++count102);
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Console.WriteLine ("count of students class 101={0} ", count101--);
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Console.WriteLine ("count of students class 101={0} ", count101);
count101--;
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Console.WriteLine ("count of students class 101={0} ", --count101);
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--count101;
Console.WriteLine ("count of students class 101={0} ", count101);
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Console.WriteLine("count of students class 102={0} ", count102++);
Console.WriteLine("count of students class 102={0} ", ++count102);
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intx=12,y=-12;
Console.WriteLine ("x={0} y={1}", x++, ++y);
Console.WriteLine ("x={0} y={1}", --x, ++y);
y = ++X;
X=y--;
Console.WriteLine ("x={0} y={1}",X,y);
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int a=5+7;
string s= "ali"+"reza";
string count="count of pencil : "+100;
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string s = "ali";
st="reza",
Console.WriteLine(s);
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Console.WriteLine("flag = {0}",a>10);
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int iranWater = 190;

Console.WriteLine(" The average consumption in IRAN -> " + iranWater);

int worldWater = 135;

Console.WriteLine(" The average consumption in WORLD -> " + worldWater);
[l jin o)l 30 Ol B pae &l L]

Console.WriteLine(" Is iranWater > worldWater: {0} ", iranWater > worldWater );
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bool flag=false;
int score=7;
Console.WriteLine("score = {0}",score);
Console.WriteLine("is student passed: {0}, is score=7:{1}",flag==true,score==7);
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passed>=12

failed +2 < passed -a

passed !=20

failed == passed —a
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int numl;
Console.WriteLine("Enter numl : ");
num 1=int.Parse(Console.ReadLine());
numl—++;
numl*5;
--numl;
numl/2;
Console.WriteLine("num1={0} ", numl);
Console.ReadKey();
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bool result = true;
Console.WriteLine(result > 0);
string s1 ="Ali";
string s2 = "Reza";
sl +=s2;
sl =sl -s2;
float f=100 - s1;
sl =-sl;
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int booklet, children;
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Console.WriteLine("Enter number of booklet : ");
booklet = int.Parse(Console.ReadLine());
Console.WriteLine("Enter number of children : ");
children = int.Parse(Console.ReadLine());

int count = booklet / children;

Console.WriteLine("count={0} ", count);

Console.ReadKey();
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byte x, y;

y = byte.Parse(Console.ReadLine());

x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) && (y==5));
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byte X, y;

y = byte.Parse(Console.ReadLine());
x = byte.Parse(Console.ReadLine());
Console.WriteLine((x==2) || (y==5));
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string weather;
Console.WriteLine(" weather:");
weather = Console.ReadLine();
Console.WriteLine("weather is not cloudy: {0}", weather!="cloudy");
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Console.Write("Enter num1:");

int num1 = int.Parse(Console.ReadLine());

Console.Write("Enter num2:");

int num2 = int.Parse(Console.ReadLine());

Console.WriteLine(" {0} greater than{1} -> {2}",num],num2,num1>num?2);
Console.WriteLine(" {0} less than {1} > {2}", numl, num2, numl < num?2);
Console.WriteLine(" {0} equal to {1} > {2}", num], num2, numl == num?2);
Console.WriteLine("{0} not equal to {1} > {2}", num1, num2, num1!=num?2);
<)

Console.WriteLine("Enter an integer:");

int mylInt = int.Parse(Console.ReadLine());

bool isLessThan10 = mylInt < 10;

bool isBetween0AndS = (0 <= mylInt) && (mylInt <= 5);
Console.WriteLine("Integer less than 10?7 {0}", isLessThan10);
Console.WriteLine("Integer between 0 and 5?7 {0}", isBetween0And5);
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if (x=="bicycle")
Console.WriteLine("Playing");
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Console.WriteLine("Enter your choice // 1 or 2");
byte x = byte.Parse(Console.ReadLine());

if (x==1)
Console.WriteLine("Pay bills");

if (x==2)

{

Console.WriteLine("Pay bills");
Console.WriteLine("reduction of traffic ");

}
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if ( light== "red")

vehicle_Condition = "stop";
else

vehicle Condition = "move";
Console.WriteLine(Vehicle Condition );
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string day = Console.ReadLine();

if (day == "odd")//condition true

{
Console.WriteLine("Studying");
Console.WriteLine("English class");
Console.WriteLine("Say praying");
Console.WriteLine("Visit Grand");

§

if (day == "Even") //condition true
Console.WriteLine("Studying");
Console.WriteLine("gym");
Console.WriteLine("Say praying");
Console.WriteLine("c# programming Class ");
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Console.WriteLine("Enter the floor");
int floor = int.Parse(Console.ReadLine());
if (floor 7#.2==0)
Console.WriteLine("Elevator A");
else
Console.WriteLine("Elevator B");
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if (age>=18)
status="Allowed";
else
status="Not Allowed";
Console.WriteLine(status);
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Console.WriteLine("How old are you?");

int age = int.Parse(Console.ReadLine());
string s;

s = (age >= 18 7 "Allowed": " Not Allowed");
Console.WriteLine (s);
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bool result = in. TryParse (Console.Readline () , out int age);
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Console.WriteLine (" How old are you");
bool result = int. TryParse (Console.ReadLine() , out int age);
if (result)
{
string s = (age = 18 ? "Allowed" : "Not Allowed");
Console.WriteLine (s);
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Console.WriteLine("Enter your user name");
string user = Console.ReadLine();
Console.WriteLine("Enter your password");
string pass = Console.ReadLine();
if (user == "reza"
if (pass == "123456")
Console.WriteLine("Welcome " + user);
else
Console.WriteLine("The password is incorrect");
else
Console.WriteLine("Unkown user");
Console.ReadKey();
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Console.WriteLine("Enter the air temperature");

int temp = int.Parse(Console.ReadLine());

Console.WriteLine("Enter the weather conditions: sunny /cloudy / partly cloudy/ rainy");
string condition = Console.ReadLine();
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if (temp > 19)
if (condition == "sunny")
Console.WriteLine("Excellent");
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if ((temp > 19)&& (condition == "sunny"))
Console.WriteLine("Excellent");
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if (temp < 19)

{
if (condition == "sunny")
Console.WriteLine("suitable");
if (condition == "partly cloudy ")
Console.WriteLine("suitable");

}
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if (a>Db) && (a>c¢))
if (b>c¢)
Console.WriteLine("{0} {1} {2}",a, b, c);
else
Console.WriteLine("{0} {1} {2}", a, ¢, b);

elseif (b >a) && (b >c))
if (a>c)
Console.WriteLine("{0} {1} {2}", b, a, ¢);
else
Console.WriteLine("{0} {1} {2}", b, c, a);

else if ((c > a) && (¢ > D))
if (a>b)
Console.WriteLine("{0} {1} {2}", c, a, b);
else
Console.WriteLine("{0} {1} {2}", c, b, a);
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int count = 0;

if (b + ¢ > a) count++;

if (a + ¢ >b) count++;

if (a+b > c) count++;

if (count == 3)
Console.WriteLine(true);

else
Console.WriteLine(false);
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else if (a + ¢ <=b)
Console.WriteLine(false);
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if (season=="Bahar")
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
else if (season=="Tabestan")
Console.WriteLine("Tir, Mordad, Shahrivar");
else if (season=="Paciz")
Console.WriteLine("Mehr, Aban, Azar");
else if(season=="Zemestan")
Console.WriteLine("Dey, Bahman, Esfand");
else
Console.WriteLine("Season Wrong");
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string season ;
Console.Write("Enter Season:");
season = Console.ReadLine();
switch (season)
{
case "Bahar":
Console.WriteLine("Farvardin, Ordibehesht, Khordad");
break;
case "Tabestan":
Console.WriteLine("Tir, Mordad, Shahrivar");
break;
case " Paeiz ":

case "Zemestan":

break;
default:
Console.WriteLine("Season Wrong");
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long x = long.Parse(Console.ReadLine());

x=x % 10;

switch (x)

{

case 1:
Console.WriteLine("5");
break;

case 2:
Console.WriteLine("3");
break;

case 9:
Console.WriteLine("7");
break;

case 0:
Console.WriteLine("9");
break;

}
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Console.WriteLine("What’s your favorite color?");
Console.WriteLine("[r] red");
Console.WriteLine("[g] green");
Console.WriteLine("[b] blue");
Console.WriteLine("[w] white");
Console.WriteLine("[y] yellow");

Console.Write(" Enter your choice: ");

char choice = char.Parse(Console.ReadLine());

switch (choice)
{
case 'r'":
Console.BackgroundColor = ConsoleColor.Red;
Console.Clear();
break;
case'g"
case'b":
Console.BackgroundColor = ConsoleColor.Blue;
Console.Clear();
break;
default:




B b Pl Jo i ooy

S JonoSS [y ol Y g W 90 dumn g g1 [

WS oy aol w alieo (509,59 LR

N 4 pieled axiis uaday (6999 (Yl 4 00 (il S 48 3l )l s gi U T
fogl oo

D oS st e Ay B S wiile <) Conw b A5 0o oSS g 30b 1y dali oS5
S ABLS o 1y i Lo Ao ol 5y il (5ol dals y3 Canw pad 43 1

|| il b oo 9 SWItCh jgiws wlize | VY 6,8

969959 L 9 (29,746%9)9 E5 S FgmalS oliwd Sy pl S8l 0 b &S g (slaelipy penlyS oo
S el ) il oy (o292

DS sl ! 10Device pb b guus o9

WS 3 ,lg Main wie yo 1y g5 4ol i

Console.WriteLine("enter your device");
string x = Console.ReadLine();
switch (x)
{
case "keyborad":
case "Mouse":
case "Scanner":
Console.WriteLine(" {0} is input device ",x);
break;
case "Monitor":
case "Printer":
case "Headphone":
Console.WriteLine(" {0} is output device ",x);
break;
case "Modem":
case "Network card":
case "Audio Card":
Console.WriteLine(" {0} is Both Input—OutPut Devices ", x);
break;
default:
Console.WriteLine("unknown");
break;

}
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const int Sunday = 0;
const int Monday = 1;
const int Tuesday = 2;
const int Wednesday = 3;
const int Thursday = 4;
const int Friday = 5;
const int Saturday = 6;
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Console.BackgroundColor = ConsoleColor.Blue;
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ConsoleColor ¢ = ConsoleColor.Blue;
Console.BackgroundColor = ¢ + 3;
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Console.WriteLine (c);
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enum Season
{
Winter = 1,
Spring = 2,
Summer = 3,
Fall=4
}
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Console.Write ("Enter the Season number (14-): ");
int no = int.Parse (Console.ReadLine () );
Season fasl = (Season) no;
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DayOfWeek day;
day = Monday;
day = DayOf Week.Wednesday;
Console.WriteLine (day);
day = 5;
day = (DayOfWeek) 0;
Console.WriteLine (day);
Console.WriteLine ((int) day);
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